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1. Na-24

(A) Be-7 C-14 Sr-89 Cs-137 

(B) C-14 Sr-89 I-131 Cs-137 

(C) Be-7 Sr-89 Sr-90 I-131 

(D) Co-60 Sr-90 I-131 Cs-137 

2. Ra-226 4.60MeV Q

(A) 4.60MeV   (B) 4.62MeV   (C) 4.64MeV    (D) 4.68MeV 

3. T1-204  

(A)      (B)   

(C)      (D)  

4. N-13  

(A)          (B)   

(C)          (D)  

5. 7.4 107Bq Y-90 Z=82 2.28MeV

0.94MeV MeV

 

(A) 3 1010   (B) 8 108   (C) 6 106    (D) 4 104 

6. 2.7g/cm3 1mm  

1.3 10-3g/cm3  

(A) 2.1m   (B) 4.8m   (C) 13.4m    (D) 25.2m 
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7.  

(A) H n, D  

(B)  

(C)  

(D)  

8. 5Gy  

(A) 0.0001    (B) 0.001   (C) 0.01     (D) 0.1  

9.  

(A) Pu-238   (B) Cm-242  (C) Cf-252    (D) Cf-254 

10. C-14  

(A)         (B)   

(C)         (D)  

11.

 

(A) BF3  

(B) LiI Eu  

(C)  

(D) LiI Eu  

12. Sr-90 / Y-90 

 

(A)  

(B)  

(C)  

(D)  

13.  

(A) LiF   (B) Li2B4O7:Mn  (C) BeO    (D) CaSO4:Dy 

14.Mn-56 0.847MeV 99 1.811MeV 29 2.11MeV 15

Mn-56  

(A) 0.32 R-m2/h-Ci 

(B) 0.53 R-m2/h-Ci 

(C) 0.84 R-m2/h-Ci  

(D) 1.37 R-m2/h-Ci 

15.  

(A) K-40   (B) Rb-88   (C) La-139    (D) Re-185 
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16.U-235
2
1Τ 7.13 108 y 500mg Bq  

(A) 4�104   (B) 2�105   (C) 3�105    (D) 7�105 
17. work function 4.20eV 1600A

h = 6.62 ×10-34Js, em = 9.1 × 10-31kg , 1eV = 1.6 × 10-19J  

(A) 1.88eV   (B) 2.64eV   (C) 3.55eV    (D) 4.21eV 
18.  

(A) Po-210 Pb-206  
(B) Na-22 Ne-22  
(C) Co-60 Ni-60  
(D) Pd-103 Rh-103m  

19.  
(A) stopping power  
(B) lineal energy  
(C) specific energy  
(D) radiation weighting factor  

20. 0.2MeV de Broglie  

(A) 0.028A  (B) 0.057A   (C) 0.089A    (D)0.13A 
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1. U-238 Pb-206  

2. X    

3. 100keV 2.5MeV

 

4. 20 0.0025eV  

5. NaI T1  

6. 1.44  

7. triplet production  

8. bulidup factor

 

9.  

10.  

O 

O O O O 
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1. 1013 n / cm2 s

Cd-113 113Cd n , 114Cd σ 2.1 104 ln 3=1.1  
ln 10=2.3   

 
2. 0.1 3MeV X 0.1Gy

 
1.0g/ cm3 5.98 1022 / 2.75 1022 /  

1.72 1021 / 6.02 1021 / 1.3 10-3 g /cm3 

3.01 1023 /  

 
3. 1.2MeV 450  

 
4. Z I  

 
                  
    
 

CO2 ln 2=0.69 ln 3=1.1 ln 5=1.61 ln 7=1.95  

 

19.0 eV Z 1 
I=  11.2 + 11.7 Z eV 2 ≤ Z ≤ 13 
    52.8 + 8.71 Z eV Z 13 


